?% &? ﬁ Eksponenter pa 10

StudentName: _ ExamDate: _  ExamScore:
2,35+ 10 = 6,41 x 10° =
7,57 x 107 = -2 x 10% =
3x10% = 7x10% =
~1x10* = 4,64 x 10° =
4x10° = 7,44 x 10° =
6x10° = 3x10% =
4% 10° = 2,26 x 10 =
6,36+ 10" = 9,54+ 10% =
10 = 9,34+ 10° =
6,44 x 10° = 4x10° =
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?% & ﬁ Eksponenter pa 10

StudentName: __ ExamDate: _ ExamScore:
2,35+ 10=0.235 6,41 x 10° = 641000
7,57 x 10* = 757 —2 x 10* = —200
3 x 10* = 30000 7 x 10* = 700
—1 x 10* = —10000 4,64 x 10° = 464000
4 x 10° = 4000 7,44 x 10% = 744
6 x 10° = 600000 3 x 10% =300
4 x 10° = 4000 2,26 x10=22.6
6,36 + 10* = 0.000636 9,54+ 10* = 0.0954
10 = 100 9,34+ 10* = 0.0934
6,44 x 10* = 644 4 % 10° = 4000
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